April 20, 2022

Math 261
Spring 2022

Lecture 19

Cless Q7 A1 Nevors  Sormule
Vind the Exudr CL\(‘Q oy the A- m(g_q)
JY“\O\r\g\e below: Wheye %/

> 3 P- 0abalz 20 §F
3 Sk S- % = 10

Prega- (0(&0-%3(«0—1)(\05\ = \I 0235 = JToo ~,




A isoSCeles Hriangle has a Peaimeley 12 )

Siad o Sdes %W%M

\\

Weron's Sormola %*/%: 6

Aeas J;

h\S s mmx.,\\\ev\ oW en \s Wax.

2
Need o maximize 6 (6-9)6X)
1 A*ZX=‘?—

4 12 - 2X
Need B maxmiz e

SO 6 (6 —(R-2))6 —'x)

s6( 2 —6)(6- x) S (X6 x)
Max. hw\)‘:u\s where S(X) 0 ond & (W40

Pe
% x e
A Avea [S(5-0)5-8)s)

§= \a(xfs\(e—x)e‘
A
Sw-=1e i 1'@#% + (x-2)-2(6- X)'(‘lﬂ

- e 6-x —203)
2 (6% w2) = -36(6-R)(x-4)
S():0 —» x=b, x=4

S ‘“{*W 9 1)1 36) w6

- 36(-2x «0) =12 (x-5)

S(6)=12(6-5)=12 >0 EQ/MM‘ poinl

@/MO\K'POM'\
) =12 (4=5)=-12 40 ()

§ b wheve  X=H
Mo PO TR §=12-2x -2

4 Y V=4

L.

April 20, 2022



Siad Aivnensions oS o ‘redow\ﬂ\e witn

Moximuw, QX et ot Cont e nsribed na

Qe 0 Yadiys 10 inches, 2X
2
(W)
10
/ Mad LprG o Masgmize

Plen X Rvea =1KY

\ sy <10
\/ Vo 100 X
v- Joo-x*

HCX):LJ\X \]~E;)7a MaKe dove,

| LIRSS
A - A & A
RG) - by Wed.
A =4x oo X %( m]
o aL A, 2 e, S Y,
Ax)=4 i’l Jwox® ¥ X m} %\J’_(\Sm,x?) 3—.
2 _Va
Hh‘); q- @M ‘E‘UOO—XZ)'(%}.
Jwo-¢ X
o b’ - oo-3*
A = T—’z’“ R&x):Og .
(00X 50-X=0 X= 50
oy 800 -2 sl
(00-x° AOO <o
Max. noppens when %592 =1 5& X=3
- o2z -5 J2 z%"
KX!VD /VMQX.\
Y Dimersins 2% by &Y
” joN2 oy \03’;3
" i n.
Mix. Avea =D> H XV 5
o8 - 100 oD i

April 20, 2022



A Sheet 05 wmedal has o vechungvlav

S\\o.?e ,OJ\C}\ Wots 3 Sy \0\/) 2 SY.

iy eiw‘\ V2 N

Sqvares Svowm 4 Qovievs.

Now bend vp Sides
1 ol on on—lvoP o
box . X aox X

Volomg o5 his Box!
V-LWH

\ = @-20(3-2%) X

Sind X \3'\0\*‘ WAKO 7
Max. Noluwe . Q -ax

3-2X

April 20, 2022

\ = @-20(3-27)
=@4 16X —6x 190X

= (M — 22 29X

V(x) =457 = 22 + 24X
Vi): 1228 —gux a4 VI0=0

VOO0 ayx -4

Solye \}‘(x):O/ Sefeyr-mine oy oh'h ane
e wheve V=0

N(x) <O éb\




\/l(X>: VX QI CY GEENCL =9 3x= 1x +6)

V' (X)= _y V(%)=0
. )- L\S& 3x5-Wx 4630
V() i o D 20
¥ e R)(x -2)=
QK(%) % &5\ Q/ X
(b—HY4=-4{O 3x2=0 X-3=0
MoaX. Pom‘
oV X-=
Max. Volome  &(R-8 2)&5 2:2)
Vaoluwne " g€

V() =(T ~2%)(>-2%)"X
L a5 .52
> )% e ,3_/?) 2 S

DimenSions "

$ind o Mumber ow the  inverval [‘3)%]
Such \'\(\0\'\ “\e Suw Og the mMumber O«\A

o vecipriml 15 05 Smoll a5 Possile.

Lt X be the number on LZ’ 2]

\ - Minimi ge N
SQX)Z Xy X

\
S(%} v \_ 210
§0- X *Xia j < x=11
=1 — X x=-1 te 20*
a w |23
SO ex x> What o\o{)u’f x=2%
NOBEES 2} ‘ S&i) s >0

April 20, 2022



A fec‘wmﬁ\e N %i\*:na on the X-0X5and

o fwo OppY Corners ove on the Cuvve

quen by g le-xC

G

(V)

o Aven.  AEY)= &6 —'Xz)
AK)s 22x -2

Dimensions awe
2 foYed
2x ng)-,\b—?@:lé-%; 32

/—‘> H‘(X): 0 9(2: 32
\ 2
AX): 32 - 6% e pard 05
‘ _ 4
H\(X): —\alx VKDX K= \E
9“0%>i“\40 x- 493
3

s J \ B
Smé‘ he Aimensious wWith

>
Siad o point on the C\‘w:\e
Pod 1o the Aosest 1o (3/03 Dot (‘1,0)
%) 0,‘\) c\ = J m)’&

S9)

Review  skumce Sowmola

=1 N2 w1

We_ Owe Nm\ttv\j o [‘1/1% < JT“\X

weobh\a we v QQA Y]

S()=5-4C1)<5+4=9 \ LW ZE
Aistance =10 -13) Fo

) 5-4x
S'M= -4
Sey- B-4W =54:1
Ashance R @% M. sk
oy X=1

s .
Aosest Poh\* Y (3/0) \S
C1,9).

April 20, 2022



Cd ol poits on Y:JX on (03]
Wt v Closest 15, and o the greafist Sishune
Svomn  (2,0).

L e

L=hy

S00)= (x-2) +X
S(o)-q —» it Ji-os
NONE — distone=0 =2

$x)- ar2) el - ex il = 2x-3
Yo -2>0 S0\, o 209

Mo At (0,0) /(3/&) A:Q—\ﬁ—
Min dsh (%’E) A: =)

A;,E (x-2)Y +X

[G5% - 5s SR

A mon is ow the lomk o8 wiver thfis 1 mile wide

A Wi, e TowW

wal
1wle| /Rew River

Mo
A town i L mile o?sﬁveuwx on the Q?Pog(\t
ot
\ye inkends o row ot o %WW&QM \ine, Then
wolk 1o the TN, Wl
To whaf peiat he should vow To awdlio touwm

0 \\eus‘r amoont 0 Time§ 1§ he @n vow 4mph

and Wl 5"“\’\‘? %?RA: Aishne

X A-X Toww ‘hw\e

| e = Aestance
1| \ Spred
.,

Walk 2 time _i*\?(

Mo 5

Row —p time. ¥ A%A1

Vol Time »/S‘DQ

Mimmize This

April 20, 2022



x=0

L. W
x-14 3= Yowo= o e

one week Svom -
Today -

Yo .
So= L)+ x
)

S0 L. L () on -
)= 'q~ E X r 5
O, S WY St (P51
i &t o 20 a1
Solye S =0 5)4-'-\&7(?\:0
Sy = AL
50 $0 25x° = 16 (xx1)
2
v 1 oxe a5y’ = \bx v 16

A 2= 16

Mmin. Poinl X %\’/ x4
b
1 River Lowger than
e 1,
S(o): -‘r‘ X ‘—5 = %

April 20, 2022



